Division par Puissances de Dix (E)

Trouvez chaque quotient.

37 +-1000 = 5+1=

99 +~ 10 = 14 - 0,001 =
48 - 10 = 16 -1 =

67 +-0,1= 29 +1=

43 =100 = 98 +0,1=
68 - 0,01 = 94 +-1000 =
32+ 0,001 = 79 + 10 =
59 - 100 = 64 =100 =
40 =100 = 46 - 100 =
18 +-1000 = 86 - 100 =
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Division par Puissances de Dix (E) Solutions

Trouvez chaque quotient.

37 +1000=0,037 5+1=5

99 +-10=99 14 + 0,001 =14 000
48 ~+10=4,8 16 -1=16

67 +0,1 =670 29+1=29

43 +100=10,43 98 = 0,1 =980

68 = 0,01 =6 800 94 - 1000 = 0,094
32 +0,001 =32000 79+10=79

59 +-100=0,59 64 + 100 = 0,64
40+ 100=0,4 46 - 100=10,46

18 +1000=0,018 86 =100 =10,86
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